ORE-RUGHEMEBXR(IYRK-FSHNERBALER) SHSFERAANR

FREZ WETHE | BEEBIH BRAE s
EiE(ha) A #Mia(m)
AH AT MHE™m 1) RERIYK) 20.00
2)AEFFW) 44.00
3) KB UH) 20.15 62 62.14
4) REBI(FZ#) 79.10 95 4551
5) a3k
it
BE™ BE™ 1) RAERIYRK) 85.74
2)AEFZW)
3) LB YH) 51.33 1,485 408.52
4) % BI(FS%F)
5) a3k
it
Kinst Kinst 1) RAERIYRK) 6.97
2)AEFZW)
3) LB 36.92 3438| 2,737.56
4) % BI(FS%F)
5) a3k
it
22k BHFIARET BHAIARER | DREEEIWN 27.49
2)FAEFFH)
3) REI(TUH) 29.16 3,265 756.30
4) % BI(FS%F)
5) a3k
it
[SANET [SANET 1) AERIYRK) 25.00
2)FAEFFH)
3) REI(TUH) 25.00 4151 614.30
4) % BI(FS%F)
5) a3k
it
fiid (1T a5 ) [TEAH 1) FAERR VK
2)FAEFFH)
3) REI(TUH) 2.00 23 10.20
4) fREI(FSHK)
5)HEFk
it
SSIET Eril) 1) FAERR VK
2)FAEFFH)
3) thEI(TYHK) 0.55 30 30.00
4) R EI(FSHK)
5)HEFk
it
TR - Eoni] - Eoni] 1) ARV 11.33
2)AEFSW) 90.77
3) L EI(=Y#) 11.33 364.80
4) % EI(F %K) 90.77 420.00
S)HEH




EENE

RERB% GrlESES EEEEIHE -5
_ _ mi&(ha) A #MiE(m)
RS iRT iRT 1 HER VK

2)AEFFW) 22.39
3) BT YH)
4) fREBI(FS#) 22.39 3316| 2,083.01
5)HE$k "
TEET WER  DRERUH 746
2)AEFZW) 17.16
3) LB YH) 3.72 42 18.10
4) fREBI(FSH) 13.49 251 60.52
5)HE$k "
RAEN EREH [ RERIW
2)AEFIW) 5.88
3) R EI(TYH)
4) fREBI(FS#) 5.88 500 350.00
5)HE$k "
DRV 780.99 0 0.00
2;%‘1;%%1—51;) 180.20 0 0.00
= - 3 (%K) 180.16 12,496 | 5,001.92
HBNERE 1A 4) REBI(FSH) 211.63 4162 | 2,959.04
5) B3 0.00 0.00 0.00
it
E MHE™m MHER 1) AERIYR) 214
2)FAEFFH)
3) kBT V) 2.14 758 166.00
4) % BI(FS%K)
5)HEFk 211 700
it
fiidt [TEAH MEHE 1) FAERR V)
2)FAEFFH)
3) REI(TUH)
4) REBI(FS#) 19 5.64
5)HEFk
it
VN AT MHER 1) AERIYRK) 3.23
(RIR—VIREEE) 2)AEFSW)
3) REI(TUH) 3.23 310 211.10
4) % BI(FS5%K)
5)HEFk
it
1) AER YR 5.37 0 0.00
2%@%#5@ 0.00 0 0.00
whs 5 3) K=Y 5.37 1,068 377.10
REE 2 SEAT 4) 58I(F54) 0.00 19 5.64
5) HEFk 211 700 0.00
i
(Fx@T) (IZhvFET)




